TABLE V

SELECTED NUMERICAL SOLUTIONS FOR k.‘ AND k

2
Wavelength K %
(hanometers) ! 2
1<100 1=300 J 1=1000 1=3000 T 210,000
180 1.0
300 1.0
302 1.0
303 1.32
304 2.09
305 3.3
306 5.25
307 8.32
308 13.2
309 20.9
310 331 1.0
3N 52.5
312 83.2
313 132.0
314 209.0
315 330.0
400 330.0
401 1.0
500 1.0
600 1.0
700 1.0
710 1.05 1 1 11 3.3 11.0
720 1.09 1 1 21 6.3 21.0
730 1.14 1 1 2 9.3 31.0
740 1.20 1 1.2 41 120 41.0
750 1.26 1 1.5 5.0 15.0 50.0
760 1.31 1 1.8 6.0 18.0 60.0
770 1.37 1 2.1 7.0 21.0 70.0
780 1.43 1 2.4 8.0 240 80.0
790 1.50 1 2.7 9.0 27.0 90.0
800 1.56 1 3.0 10.0 30.0 100.0
850 1.95 1 3.0 100 30.0 100.0
900 2.44 1 3.0 10.0 30.0 100.0
950 3.05 1 3.0 10.0 30.0 100.0
1000 3.82 1 3.0 10.0 30.0 100.0
1050 4.78 1 3.0 10.0 30.0 100.0
1060 5.00 1 3.0 10.0 30.0 100.0
1100 5.00 1 3.0 10.0 30.0 100.0
1400 5.00 1 3.0 10.0 30.0 100.0
1500 1.0
1540 100.0 * 10
1600 6 1.0
1.0X10 1.0

* The factor ky = 100.0when t< 1077, and k; = 1.0when t > 10~7

Note: The variable (t) is the magnitude of the sampling interval
in units of seconds.



